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1.At t=0,a12.0-V battery is connected in serieswith a d
220-mH inductor and atotal of 30-Q resistance. o
Which is correct? '
(@ a t=0,thecurrentis0.40A;
(b) as t— o, the current decaysto zero;
(c) thetime constant is about 7.3 ms;
(d) it take 50 s for the current to reach half its maximum possible value.

2. Which of the following statement is NOT the second law of thermodynamics?

(a) the entropy of a closed system can never decrease;

(b) the entropy of the universe can never decrease;

(c) it isimpossible to construct a refrigerator operating in a cycle whose sole effect
Isto transfer heat from a cooler object to a hotter one;

(d) the change in the internal energy of a system depends only on the net heat
transferred to the system and the net work done by the system, independent of
the particular processes involved.

3. When a current-carrying conductor is held fixed in a magnetic field, the field exerts
asidewaysforce F,=-gV,xB on the charges moving in the conductor. Thisisthe

(a) Hall effect; (b) Meisner effect; (c) quantum-size effect; (d) edge effect.

4. The Sl unit for Poynting vector S=ExB/y, is(@A; (b) T, () W/m?% (d) W.
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